Calculus II, Spring 2022 (Thomas’ Calculus Early Transcendentals 13ed), http://www.math.nthu.edu.tw/~ wangwc/
Brief solutions to selected problems in homework week 14
1. Section 16.3, problem 21:
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2. Section 16.3, problem 26:

Method 1: Since F satisfies the component test (need to check it!) and the domain
D = R3\ {(0,0,0)} is simply connected, from the ‘Component Test for Conservative
Fields’ property on page 988, we know that F' is conservative.

Method 2: Since f is explicitly found (no matter how one finds it) to satisty F' = V f,
we know that F' is conservative:




